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Table 1. Denavit-Hartenberg notation parameters.

i i1 a1 d; 0;

1 0 0 0 6, ()
m

2 3 0 d, (6) 0
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Considered example robot(manipulator) has two elements in its construction. First element
is rod with length [; and mass m,. One of rod’s endings is connected to manipulator’s base
via joint. Joint connection allows rod to spin around axis which is perpendicular to picture.
Robot’s base doesn’t move and it’s permanent fixed to the floor. Second element is material
point with mass m,. Material point has can move along rod. In example we have three
coordinates systems. First coordinate system with index 0O is tied to base. Second coordinate
system with index 1 is tied to rod. When rod is in its initial position coordinate system 1 is in
the same place like stationary coordinate system 0.
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Calculation of driving force for coordinate system 1:
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Calculation of driving torque for coordinate system 2:
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